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QUESTION 1

An architect is designing a VMware software-defined data center (SDDC) solution based on the following customer
requirements: The solution must initially support 1,000 virtual machines The solution must scale to support the
concurrent running of up to 5,000 virtual machines The production environment should be delivered across two data
centers The solution should have a maximum tolerable downtime (MTD) of four hours The solution should have a
monthly service availability target of 99.8%

Which two assumptions could the architect make based on the information from the customer to help size the solution?
(Choose two.)

A. The number of vSphere hosts in a cluster

B. The average resource utilization of a virtual machine

C. The size (CPU/RAM/storage) of the average virtual machine
D. The guest operating system for each virtual machine

E. The size (CPU/RAM/storage) of the vSphere hosts

Correct Answer: AE

QUESTION 2

A customer requests a review of its current vSphere platform design.

The following information is noted:

There are three different workload profiles for the virtual machines:

-Tier-1 virtual machines operate resource-intensive applications and require dedicated allocations for CPU
and RAM.

-Tier-2 virtual machines operate internet-facing applications and require access to externally facing
networks.

-Tier-3 virtual machines operate platform management tools such as vCenter Server and have different
lifecycle management requirements.

Tier-1, Tier-2 and Tier-3 virtual machines are all hosted on a single large vSphere cluster.

The Chief Information Security Officer (CISO) has raised concerns that hosting externally facing
applications alongside management tools does not meet internal compliance standards.

The Operations team has raised concerns about Tier-1 virtual machines negatively impacting the

performance of vCenter Server.
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The Operations lead has stated that management changes have consistently been rejected by application
teams.

As a result of the review, which recommendation should the architect make regarding the design of this platform?
A. Separate Tier-1, Tier-2 and Tier-3 virtual machines using dedicated distributed virtual switches (DVS)

B. Separate Tier-2 virtual machines onto a dedicated cluster

C. Separate Tier-1, Tier-2 and Tier-3 virtual machines onto dedicated clusters

D. Separate Tier-1, Tier-2 and Tier-3 virtual machines using resource pools and shares

Correct Answer: D

QUESTION 3

An architect is designing the expansion of an existing vSphere 7 environment. The customer is requesting
a design for a new cluster to support the anticipated future business growth. The requirements specified
for the existing environment design must be considered when designing the new cluster.

The existing design has the following requirements:

REQO1 The environment has an availability target of 99.5% for all infrastructure.

REQO2 The recovery time objective (RTO) for Tier 1 virtual machines is one hour.

REQO3 Windows and Linux virtual machines must reside on separate clusters.

REQO04 Access to the management cluster within the environment must be controlled.

Which of the listed requirements would be classified as a functional requirement?

A. The environment has an availability target of 99.5% for all infrastructure

B. The recovery time objective (RTO) for Tier 1 virtual machines is one hour

C. Access to the management cluster within the environment must be controlled

D. Windows and Linux virtual machines must reside on separate clusters

Correct Answer: A

QUESTION 4
An organization\\'s data scientists are executing a plan to use machine learning (ML). They must have access to
graphical processing unit (GPU) capabilities to execute their computational models when needed. The solutions

architect needs to design a solution to ensure that GPUs can be shared by multiple virtual machines.

Which two solutions should the architect recommend to meet these requirements? (Choose two.)
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A. NVIDIA vGPU

B. AMD MxGPU

C. vSphere DirectPath 1/O
D. vSGA

E. vSphere Bitfusion

Correct Answer: AD

QUESTION 5
An architect is designing a new greenfield environment with 600 ESXi hosts in an automated fashion. The engineering
department already has a PXE Boot server, TFTP server, and DHCP server set up with an NFS mount for their current
Linux servers.

The architect must be able to demonstrate and meet a security requirement to have all infrastructure processes
separated.

Which recommendation should the architect make for the ESXi host deployment?
A. Request an isolated network segment to use and dedicate it to Auto Deploy functions
B. Ask the business to expand the engineering environment to service the virtual environment as well

C. Request a common shared network with flexible security measures to accommodate different auto deployment
options

D. Deploy each ESXi host individually and document it to satisfy security requirements

Correct Answer: C
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